

$$f(x) \begin{cases} -x^+ \Rightarrow 2 \left[\frac{x^-}{2} \right] + a \left[\frac{-x^+ + x^-}{2} \right] = 2 \\ -x^- \Rightarrow 2 \left[\frac{x^+}{2} \right] + a \left[\frac{-x^+ + x^-}{2} \right] = -a \\ \Rightarrow -a = 2 \Rightarrow a = -2 \end{cases}$$

$$\left[\frac{a}{2} \right] = \left[\frac{-2}{2} \right] = -1$$

$$\lim_{\left(\frac{n}{2}\right)^-} [r \sin \frac{n}{2} - 1] \xrightarrow{\sin \frac{\pi}{2} = 1^-} [1 - 1] = [0] = -1$$

چون داخل برآب عدد صحیح می شود
 نیاز به درجۀ فای کردن ندارد

$$\lim_{n \rightarrow -\frac{1}{r}} [1x^n - n] \rightarrow \left[-1 - \left(-\frac{1}{r}\right) \right] = \left[-\frac{1}{r} \right] = -1$$

$$n \rightarrow \left(-\frac{1}{r}\right)^- \Rightarrow n < -\frac{1}{r} \Rightarrow n^r > \frac{1}{r} \Rightarrow \frac{1}{n^r} < r \Rightarrow \frac{r}{n^r} > 1$$

$$\Rightarrow \left[\frac{r}{n^r} \right] = 1 \quad \wedge \quad \left[\frac{-r}{n^r} \right] = -1 \quad \Rightarrow \quad \frac{-r}{n^r} < -1$$

$$\frac{10 \left(-\frac{1}{r}\right) - 1 + 12}{14 \left(-\frac{1}{r}\right) - (-9)} = \frac{2}{1} = 2$$

$$\lim_{n \rightarrow 1^+} \frac{\sin^2 n}{[n] + \cos n} \xrightarrow{\frac{0}{0}} \lim_{n \rightarrow 1^+} \frac{1 - \cos^2 n}{1 + \cos n} = \frac{1 - \cos \pi}{1 + \cos \pi} = \frac{1 - (-1)}{1 + (-1)} = \frac{2}{0}$$

$$[1^+] = 1$$

$$\lim_{n \rightarrow -1} \frac{\sqrt{r_n + r} - \sqrt{r_n + f}}{1 + r\sqrt{n}} \stackrel{\text{hop}}{\Rightarrow} \frac{\frac{r}{r\sqrt{r_n + r}} - \frac{r}{r\sqrt{r_n + f}}}{\frac{1}{r\sqrt{n}}}$$

$$= \frac{1 - \frac{r}{r}}{\frac{1}{r}} = \frac{-\frac{1}{r}}{\frac{1}{r}} = -\frac{r}{r} = -1, 0$$

$$\lim_{n \rightarrow 1} \frac{r_n - \sqrt{r_n + 5}}{r_n - r\sqrt{n} + 1} = \frac{(\cancel{r_n - 1})(\sqrt{r_n - 5})}{(\cancel{r_n - 1})(\sqrt{r_n - \frac{1}{r}})} = \frac{-\frac{r}{r}}{\frac{1}{r}} = -r$$

$$\lim_{n \rightarrow 0} \frac{a + \sqrt{bn + c}}{n} = \frac{1}{r} \Rightarrow a + \sqrt{bn + c} = 0$$

$$\Rightarrow a = -\sqrt{c}$$

$$\frac{b}{\sqrt{bn + c}} = \frac{1}{r} \Rightarrow b = \frac{1}{r} \sqrt{c} \quad \frac{ab}{c} = \frac{\sqrt{c} \times \frac{1}{r} \sqrt{c}}{c} = \frac{1}{r}$$